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Note:	 The question paper is divided into three sections A, B and 
C. Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ-nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 10 × 1 = 10
Very Short Answer Questions

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 1 mark.

	 IÊS> - "A'
A{V bKw CÎmar¶ àíZ

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ 
eãX, EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ 
àíZ 1 A§H$ H$m h¡&
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1)	 (i)	 What is bilateral Impedance?

		  X²{dnmpíd©H$ à{V~mYm ³¶m h¡?

	 (ii)	 Define efficiency of a rectifier.

		  {XîQ>H$mar H$s XjVm H$mo n[a^m{fV H$s{OE&

	 (iii)	 What do you mean by filter circuit?

		  {’$ëQ>a n[anW go AmnH$m ³¶m A{^àm¶ h¡?

	 (iv)	 Write the importance of operating point.

		  àMmbZ {~ÝXþ H$m ‘hÎd {b{IE&

	 (v)	 What do you mean by RC coupling?

		  RC ¶w½‘Z go AmnH$m ³¶m A{^àm¶ h¡?

	 (vi)	 Define stability factor ‘S’ of a transistor.

		  Q´>m§{OñQ>a Ho$ ñWm{¶Ëd JwUm§H$ "S' H$mo n[a^m{fV H$s{OE&

	 (vii)	Give two advantages of negative feedback.

		  F$UmË‘H$ nwZ{Z©doe Ho$ Xmo bm^ ~VmBE&

	 (viii)	What is the difference between an oscillators and an 
amplifier?

		  EH$ Xmo{bÌ d EH$ àdY©H$ Ho$ ‘Ü¶ ³¶m AÝVa h¡?

	 (ix)	 What is Pinch off point?

		  qnM Am°’$ {~ÝXþ ³¶m h¡?

	 (x)	 Write names of logic gates.

		  gmd©{ÌH$ Vm{H©$H$ Ûmamo Ho$ Zm‘ {b{IE&

	 Section - B	 4 × 5 = 20
Short Answer Questions

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 5 marks.
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(IÊS> - ~)
bKw CÎmar¶ àíZ

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 5 A§H$m| H$m h¡&

2)	 Discuss h-parameters of a two port network.

	 {ÛnmoQ>© Omb Ho$ h-àmMbm| H$s {ddoMZm H$s{OE&

3)	 State maximum power transfer theorem. Prove that only 50 
percent of the total power is transferred to the load under 
maximum power transfer condition.

	 A{YH$V‘ e{º$ g§MaU à‘o¶ H$m H$WZ H$s{OE& ""A{YH$V‘ ep³V 
ñWmZmÝVaU H$s AdñWm ‘| Hw$b ep³V H$m 50 à{VeV hr bmoS> H$mo 
ñWmZmÝV[aV hmoVm h¡'' {gÕ H$s{OE&

4)	 Explain the working of a full wave rectifier with neat diagram 
and obtain expression for its efficiency.

	 nyU© Va§J {XîQ>H$mar H$s H$m¶©àUmbr H$mo gwñnîQ> {MÌ Ûmam g‘PmBE Ed§ 
BgH$s XjVm H$m ì¶§OZ kmV H$s{OE&

5)	 A 60 Hertz full wave rectifier gives 150 mA current and 250 
Volt output voltage on rectified load. Find minimum value of L 
and C for an L. C. filter to achieve ripple factor 0.02.

	 EH$ 60 hQ>©O nyU© Va§J {XîQ>H$mar à{VamoYmË‘H$ bmoS> na 150 mA Ymam d 
250 dmoëQ> {ZJ©Z dmoëQ>Vm àXmZ H$aVm h¡& 0.02 C{‘©H$m JwUm§H$ àmá H$aZo 
hoVw EH$  {’$ëQ>a Ho$ {bE Ý¶yZV‘ L d C ‘mZ kmV H$s{OE&

6)	 Draw output characteristics curves of a common Base 
transistor configuration and explain its different regions.

	 C^¶{ZîR> AmYma Q´>m§{OñQ>a A{^{dÝ¶mg Ho$ {ZJ©‘ A{^bmj{UH$ dH«$ 
It{ME Ed§ BgHo$ {d{^Þ joÌm| H$mo ñnîQ> H$s{OE&
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7)	 Discuss frequency stability of an oscillator.

	 EH$ Xmo{bÌ Ho$ Amd¥{Îm ñWm{¶Ëd H$s {ddoMZm H$s{OE&

8)	 Describe p-channel MOSFET.

	 p - M¡Zb MOSFET H$m dU©Z H$s{OE&

9)	 Prove following Boolean expressions:

	 {ZåZ ~y{b¶Z ì¶OH$m| H$mo {gÕ H$s{OE&
	 (i)	 AC + ABC = AC
	 (ii)	 (A + B) (A + C) = A + BC

	 Section - C	 2 × 10 = 20
Long Answer Questions

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
10 marks.

(IÊS> - g)
XrK© CÎmar¶ àíZ

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& AnZo CÎma H$mo A{YH$V‘ 500 

eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡&

10)	 How is a P-N junction formed? Derive expression for the width 
of the depletion layer for a p-n junction diode. How this depend 
on the applied potential difference.

	 P-N O§³eZ (gÝYr) H¡$go ~ZVr h¡? P-N g§{Y S>m¶mo‹S> ‘| CËnÞ Anj¶ 
naV H$s Mm¡‹S>mB© H$m ì¶§OH$ kmV H$s{OE& ¶h Amamo{nV {d^dmÝVa na H¡$go 
{Z^©a H$aVr h¡?

11)	 (a)	 Explain Voltage Regulation using Zener diode.

	 	 OoZa S>m¶moS> Ûmam dmoëQ>Vm {Z¶‘Z H$mo ñnîQ> H$s{OE&
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	 (b)	 Describe voltage doubler.

	 	 dmoëQ>Vm X²{dJwUH$ H$m dU©Z H$s{OE&

12)	 Describe voltage series feedback amplifier using circuit 
diagram and obtain expression for voltage gain, input and 
output resistances using feedback principle.

	 n[anW {MÌ g{hV dmoëQ>Vm loUr nwZ{Z©doe àdY©H$ H$m dU©Z H$s{OE& Ed§ 
nwZ{Z©doe {gÕm§Vm| go BgHo$ dmoëQ>Vm bm^, {Zdoer d {ZJ©‘ à{VamoY kmV 
H$s{OE&

13)	 Describe colpitt’s oscillator with circuit diagram and determine 
frequency of oscillations and condition for sustained oscillations.

	 H$m°pënQ> Xmo{dÌ H$m g{MÌ dU©Z H$s{OE Ed§ BgHo$ XmobZm| H$s Amd¥{Îm Ed§ 
ñdnmo{fV XmobZm| Ho$ {bE à{V~§Y kmV H$s{OE&


